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1a. What s the same about these two 1b. What Is the same about these two
shapes? What s different? shapes? What s different?
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20. Amy s thinking of a shape. It has:

+ 4sides

« 4right angles

What shapes could Amy be thinking of?
Give all possible answers.

¢

2b. Terry is thinking of a shape. It has:

© 4sides
* 2pairs of parallel sides
+ Noright angles

What shape could Terry be thinking of?
Give all possible answers.

g

3a. Halima thinks that the shape matches
her statement. Is she correct? Explain
your answer.

This quadilateral
has 2 right angles.

3b. Yao thinks that the shape matches his
statement. Is he correct? Explain your
answer.

This quadrilateral
has all equal
length sides and 4
right angles.
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4a. What is the same about these two.
shapes? What is different?
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4b. What is the same about these two.
shapes? What is different?

g

5a. Sunita s thinking of a shape. It has:

- 4sides

- 2ormore right angles

What shapes could Sunita be thinking of?
Give all possible answers.

b

5b. Kyle is thinking of a shape. It has:

+ 4sides
+ 1pair of parallel lines
+ Noright angles

What shape could Kyle be thinking of?
Give all possible answers.

¢

éa. Tilly thinks that the shape matches her
statement. Is she comrect? Explain your

answer.
This quadrilateral
Q s athombus.

I i

6b. Kaleb thinks that the shape matches
his statement. Is he comect? Explain your
answer.

This quadilateral
has 1 pair of

parallel sides.
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7a. What is the same about these two.
shapes? What is different?

k5

7b. What s the same about these two
shapes? What is different?

% )

8a. Vicky Is thinking of a shape. It has:

- 4sides

 1setof parallel sides

What shape could Vicky be thinking of?
Give all possible answers.

Nid "

8b. Dev is thinking of a shape. It has:

. dsides

+ Noright angles

What shape could Dev be thinking of?
Give all possible answers.

% "

9a. Sophie thinks that the shape matches.
her statement. Is she correct? Explain
your answer.

This shape s @
regular
‘quadrilateral.

9b. Robert thinks that the shape matches
his statement. Is he comect? Explain your
answer.
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